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(ElZEHmH]) 0.227 m3 = 0.227
Ay )E 1 | = SR LE
(HEHI) 5.505 m3 = 5.505
Ay )E 1 |HE = fERIEY F 18
(HERIE D ) 0.227 m3 = 0.227
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T I % E H++ 8 &8 (& # % )
BEHEEEES - 09003600
| IEEE | 07 | TIHEEH |o50KkEAEBEIS [L—+&E [ 03 | I—r&# [Fhi@E#ak (H=1200)
& R B i m A m S E m sk
Hi5 1 1 % = EIE X B X (ELIER + REE + RIEIER + MEER)
1.774 m3 = 0.325 * 0.910 * (6.000 + 0.000 + 0.000 + 0.000)
WA 1 |5 = @EEIE X BA X (ELIER + REE + RBIER + MELEE)
0.097 m3 = 0.325 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
SR B L 1 [ = EEIE X B4 X (ETIER + SRR + RIEER + MEER)
1.267 m3 = 0.325 * 0.650 * (6.000 + 0.000 + 0.000 + 0.000)
SR B L 2 [ = (EEIE X Bx - BE) X LLIER) + (BAIE X Bx X (RIEER + AREE + MEER))
0.495 m3 = ((0.325 % 0.260 — 0.002) * 6.000) + (0.325 * 0.260 * (0.000 + 0.000 + 0.000))
BEETHDEREL 1 [ME = EEIE X B4 X (ETIER + REEE + RIEER + WMEER)
0.097 m3 = 0.325 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
A5 1 % - EAEUE LR
(B E) 1.774 m3 = 1. 774
A 1 [ME = @R EUE LR
(hiEAsHE v ) 0.097 m3 = 0.097
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T T % E 8 E E (fF B % )
HErEEEES 09003600
| IEEE | 07 | IEE#M  |450kEAEIE - rES | 04 | J—+&#  [FhiE#HER (H=800)
JEFEp & |t 3 L 151 / it 3 =
JH I 1 |%E&E = WEE X BEAi X (ETIHEE + RIIEE + RIIEE + WMEIER)
24.033 m3 = 0.325 * 0.510 * (145.000 + 0.000 + 0.000 + 0.000)
THERAE Y 1 [%&E = WHE X BEA X (ETIERE + RIIEE + RIIERE + MEIER)
2.356 m3 = 0.325 * 0.050 * (145.000 + 0.000 + 0.000 + 0.000)
PEHIHE O R L 1 [FE = WHE X BEA X (TR + RER + REER + fEER)
11.781 m3 = 0.325 * 0.250 * (145.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |FiE = (GRHIE X JBEA - BEfd) X BTER) + (RHIE X )B4 X (RIBIEE + ST E + MEER))
11.962 m3 = ((0.325 % 0.260 — 0.002) * 145.000) + (0.325 * 0.260 * (0.000 + 0.000 + 0.000))
BETHDREL 1 [FE = WHE X BEA X (TR + RER + REER + fEER)
2.356 m3 = 0.325 * 0.050 * (145.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 |%E = wHIELE L E
(HEH!) 24.033 m3 = 24.033
B ALy 1 |[HE = iR EIE L=
(HERTED ) 2.356 m3 = 2.356
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T T & 2 %+ B & (8 & % )
SBEEEEES . 09003600
| zTE®S | 07 | TE4&H |sés0kExEIS [L—+&E [ 05 | —r2% [F@EsiEeE (H=1200)
& fi EHEEEEE A
S 1 [ = IR X A X (ETERE + RRER + ARER + MELER)
0.491 m3 = 0.600 * 0.910 * (0.900 + 0.000 + 0.000 + 0.000)
R 1 [ = IR X B X (ELEE + 2FER + ARER + MELER)
0.027 m3 = 0.600 * 0.050 * (0.900 + 0.000 + 0.000 + 0.000)
TR R L 1 [ = WEE X A X (FTHEE + RMER + ARER + MELER)
0.351 m3 = 0.600 * 0.650 * (0.900 + 0.000 + 0.000 + 0.000)
e 2 B = (GENIIRE X EH - B X ELIER) + GBNIIE X HA X (RIEEE + ARER + MEER))
0.138 m3 = ((0.600 * 0.260 — 0.002) * 0.900) + (0.600 * 0.260 * (0.000 + 0.000 + 0.000))
B TR L 1 [BE = WEE X EH X (FTHEE + RMER + ABER + WELER)
0.027 m3 = 0.600 * 0.050 * (0.900 + 0.000 + 0.000 + 0.000)
Ry 1 |B&E = EEUELE
(B E) 0.491 m3 = 0.491
Ry 1 [%E = Gty BB R
(R D) 0.027 m3 = 0.027
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iHE xR )

IEEE | 10 | TIEEWM |[HABEXEREIS - rES | o | —tewm |mEsEsEs
JE R G L A BN

RO 1 |#%E = (ETHEE + REVIER + RIER + MEUER) + (GETRANE - SEmEE) X #FEETH)) X GkFE%
9.000 m

(Bl 1 |%hE = REIREEE - ek m m
45.000 m2 = 45.000 — 0.000

EEEAEIA 1 |[BE = RERWR - sk i
45.000 m2 = 45.000 - 0.000

¥ 0y e 1 |EiERER R = OREIRERE - HEREms) X Bh

CEES L) 2.250 m3 = (45.000 — 0.000) * 0.050

kA5 1 [BE = sEEEE e LR

(Bl ZE9mH) 2.250 m3 = 2.250
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RETEEEES . 09003600

o

BoH R )

IBES | 11 | TE&% |[KEsExEHEISE - &S [ o1 | W—t&% [dEsEsEl
JEFE R G L A BN

RO 1 | = ((ETERE + RIEVER + BHUER + BEER) + (FEFRAE - SaiElE X MFREITE)) X SRk
9.000 m

(Bl 1 |%hE = REIREEE - ek m m
45.000 m2 = 45.000 - 0.000

EEEAEIA 1 |[BE = RERWR - sk i
45.000 m2 = 45.000 - 0.000

Fk 455 1 |EiERER R = OREIRERE - HEREms) X Bh

CEES L) 2.250 m3 = (45.000 — 0.000) * 0.050

BTy 1 [BE = sEEEE e LR

(Bl ZE9mH) 2.250 m3 = 2.250
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